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II Semester Diploma Examination, Oct./Nov.-2019
ENGINEERING MATHEMATICS-II

Time : 3 Hours ] ' _ [ Max. Marks : 100

Note: (i) Answer any 10 sub-division in Section-A, each sub-division carries 3 marks.
(i) Answer any 8 sub-division in section-B, each sub-division carries § marks.

(iii) Answer any 5 sub-division in Section-C, éach sub-division carries 6 marks.
SECTION - A
(Answer any 10)

1. (a) Findthe equation_ of the line passing through the point (2, —3) with slope3.1+1+1
(b) Find the equation of parabola with focus at (2, 0) and X-axis is the axis of the

parabola. 1+1+1

2. (a) Differentiate 15x* + 3e* w.r.t. x. | 1% + 1%

.d |
(b) Ify=xlogx, ﬁndaf- ‘ | 1+1+1
d= .

(¢c) Ify=sinh 2x, find E;X ! 1%+ 1%
N dy § -
3. (a) Ifx=at7y=t2fmdjd¥. | 14141

(b) Find the slope of tangent to the curve y = x> - 3x + 4 at (2; 2)  1+1+1

'(c) The equation of motion of the particle is S = t3 + 5t2 + 4 in motor. Find the
velocity when t = 2 seconds. S 1+2

4. (a) Integrate w.r.t.x, x+sinx. 1+l B
(b) Integrate cot’x w.r.t. x. | 142
(c) Integrate sin2x cosdx W.r.t. X. 1+2
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5. (a)
(b)
©)

(b)
| 7. (a)

(b)

©

(®)

©

20f4 - : 1880
1 _ . |
EValuatef Gx+2)dx. - o - 2+1
0 .
1 | . . |
Evaluate fe”.dx | . S 1414 1
. |
Find the order & degree of differential equation :
@@ -
SECTION -B
(Answer any 8)

Find the equation of line passihg through the point (3, 4) and parallei to the line -

3x + 4y =8. 2+2+1
Differentiate sin x w.r.t. ‘x’ by first principle. . 14+2+42
. dy |
Ify=xs‘""ﬁnddx. : 1+3+1
C.d ', 3sinx — 2¢0s x ' »
Find Lif y==" 5 - 14341
The volume of spher‘e is increasing at the rate of 36 7 cc/s. Find the rate of
increase of radius, when the radius is 2 cm. 2+142
1 A
Evaluated l+sinxdx' - o | . .1_,_2,,,2
C &3 sin~1x . _ o ‘ |
Evaluate dx : : :
) \/1_:2 | 3+2

Evaluate J xlog x dx , | .1.+ 2+2
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.9. (a) Evduawf25+x2dx. 2+2+1

(b) Find the area bounded by the curve y = 3x% - x, the X - axis & the ordinates

x=0,x=2. , 1+2+2
(c) Form the differential equatiohs by eliminating arbitrary constants a & b from
the equationy =acos mx + b sinmx. 2+2+1
- SECTION-C

(Answer any 5)

10. (a) Find the equation to the line passing through (3, 2) and perpendicular to the

line joining points (5, 2) & (7,-6). . - 3+2+1
(b) Find the equation of hyperbola in the form = = 1 whose eccentricity is 8

& distance between foci is 12. 1+42+2+1

11. (a) Ifx=acos’,y=asin%, find’l 9=% 2+2+2
(®) Ify=e'®), then prove that (1 +x2) y, + (2x— 1)y, = 0. 24242

©) Evaluate f tan”!(x)dx. 2+3+41

n2
COS X :

12, (a) Evaluate T+sin?x 24242
| dy |

(b) Solvexg +y=x’ 1424142

(c) Find the maximum & minimum values of the function 1+3+2

B—122-2Tx +16






